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PART A
1. Consider triangle RST shown at right.

Which of the following triangles is
triangle RST?
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2. What is the mean deviation of the following distribution:

{ 24,24,36,36,40, 48, 48,48 }

A) 0
B) 3.5

C) 4.75
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3. PointP (-7, 50) is on a line in the Cartesian plane. /

The slope of the line is greater than 0. y

Which of the following statements is true?

A) The x-intercept is positive and the y-intercept is positive
B) The x-intercept is positive and the y-intercept is negative
@The x-intercept is negative and the y-intercept is positive

D) The x-intercept is negative and the y-intercept is negative

4, Point P divides line LM into a ratio of 4:5, ——

starting from point L. 0(
What are the coordinates of point P? L (?3: g : )
M (-52 , -30)
L 72
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C) (8,-6) ?%.péo . N _.2?[




5. Consider the following system of equations.

Eq.1) 16.5x-2y-64=0 Eq.2) 4y=33x+110
A6 Sx -(6-8% g
~2,- 6 = -16.5%
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[Z % 28x —32.7

Which of the following statements is true?

~c s lope
A) The system of equations has 0 sol@ ge~es DP

S

B) The system of equations has 1 solutions A/pp S /°(oc

C) The system of equations has 2 solutions ¢ \Je "
D) The system of equations has infinite solutions $ =~t ¢ xeet

6. Consider obtuse-angle triangle GFE represented below

300 CS[A%C:): quf
ooy ‘ g,‘/,—(
O.86 ...z sn 12
To the nearest degree, what is the measure of obtuse angle GFE? GI-€ = ¥

A) 96° (§o-6l.0- [18.7

B) 118°

C) 126°

D) 132°



PART B

7. What is the approximate value of the linear correlation coefficient?

Answer:r =

8. The function below can be used to find the value of Jimmy’s house in relation to the time
elapsed, starting from today.
y=200000 (1.1)*

where x : time elapsed, starting from today, in years.
y : value of Jimmy’s house, in $

Starting from today, in how much time will Jimmy’s be worth $ 322 102?
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Answer: years




9. Find the value of ‘?’ to the nearest tenth of a unit.
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10.The data listed below represent the marks obtained by 32 students on a mathematics test.

/Ob_)l;r + z )/(O\)
What is the percentile rank of a student with a mark of 66%? '/?-/01‘:/’/
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/ 98 /% ! ? / / Answer: The percentile rank is jL



PART C

: y1 x* TL" xt 77
11. In the Cartesian plane below: quqq lul = A(72,54)
e Triangle ABC is right-angled at B VI D
e Point Cis located on the X-axis B(0,36)
e Point D is on line segment BA
e m BD =m DA
c X
(2,2
To the nearest tenth, what is the length of line segment CD3 ¢ ;
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Answer: To the nearest tenth, the length of segment CD is units.




12.Find the measure of angle TNU.
Round your final answer to the nearest tenth of a
degree.

() 738 73
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Answer: To the nearest tenth, the measure of angle TNU is Z? : ?/ degrees.




